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SCIENTIFIC NOTATION Name : . :  METRICS AND MEASUREMENT Name
. X I
sclentists very offen dedl with very small and very iarge numbers, which can lead too lot . | Sclentfists use the metrlc system of measurement, based on the number 16, It Is Important
of confusion whan counting zerosl We have leamed to express these numbers as powers * to be able to convert from one unit fo another.
of 10, , U .
sclenttfic notation takes the form of M x 10" where 1= M < 10 and n represents the number [ kilbo hecto deca | Basic Unit | decl centi  mili
of decimal places to be moved, Positive n indicates the stundard form s larger than zero. : ¥ B
whereas negatlve n would Indlcate a number smaller than zero. b (k) (h) (da) @._.m_.: @ | (d) (©) _ (m})
: _ . = L 1000 100 10 liter (L) 1 01 001
Example 1: Convert 1,500,000 to sclentific notation. it
’ | | 100 q0r  qor | meter(m) § o1 q02 o0
Meove the decimal point so that there Is only .
one digit o ifs leff, a tofal of 6 places.
1,500,000 = 1.5x 10¢ m .
u_ Using the above chart, we can defermine how many places to move the decimal polnt
Example 2: Convert 0.00025 to sclentific notation, _ " and In what directlon by counting the places from one unit fo the other,
For this, move the decimal point 4 places to the right. :
0.00023 = 2.5x 10+ ) Example: Convert5mlto L.
(Note that when a number starfs out less than one, . -
the exponent is always negative.) | Answer: To go from mllll (m) to the basic
! unit, liters, count on the above chart
. three places to the left. Move the
decimal point three places to the
Convert the following to sclentiflc notation, _ left and 5 mL becomes 0.005 L.
1 oocs = . 6. 025 = ;
2. 5050 = 7. 0025 = . A
3. 00008 = 8 0.0025 = : Convert the following,
4. 1,000 = 9. 500 = 1, 3mL = dL 6. 4,500mg = g
5. 1,000,000 = 10. 5000 =
P2 9809 = kg - 7. 25¢cm = mm
Convert the followlng to standard notation. “_”
1. 15x 10 = 6. 335x 107 = ! :
. 3.225mm=____  ° em . -8B, 0.005kg = dag
2, 1.5x10% = : 7. 1.2x104 = i 1
3. 375x102 = . 8. 0 = . .
87510 10t _ 4, 10001 = KL 9. 0075m = cm
4, 375% 102 = 9, 1x10% = o
5. 22x10° = 10, 4x10° = : v_ 5. 1.000mL = L 10. 15g = mg
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